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In the following table, mark the correct answer for each of the next 20 questions:

3. In the context of the ricardian model, suppose the opportunity cost of X in terms of Y is lower in country A than in country B. This means that:

a. In autarky, the relative price of X is lower in B.

b. In order to increase the production of X, country A sacrifices less units of Y than country B.

c. The opportunity costs are constant.
d. The production possibilities frontier is a straight line.
7. In the context of the ricardian model, consider the following unit cost matrix:



Good 1

Good 2

Good 3

Good 4

Good 5

Country A
     1

    5

    2

    1

     4
Country B
     4

    4

    1

    2

     5
If the nominal wage rate is 20$ in country A and 40€ in country B, and the exchange rate is 1$=3€, then:

a. Country A will export good 1 and will import goods 2, 3 and 4 and 5

b. Country A will export goods 1 and 4, and will import goods 2, 3 and 5

c. Country A will export goods 1, 2 and 5, and will import goods 3 and 4

d. Country A will export goods 1, 2, 4 and 5, and will import good 3

8. In the context of question 7, if the transport cost is equal to ½  day of work of the country which is exporting the good, country A will export …. and will import …..

a. good 1; goods 2, 3, 4 and 5

b. goods 1 and 4; goods 2, 3 and 5

c. good 1; goods 2, 3 and 5

d. good 1; goods 2 and 3

9. Consider the following unit cost matrix:


Wheat

  Textiles

US
            1 day

   3 days

Spain

2 days

   3 days

France

2 days

   2 days

If the international terms of trade are 1 wheat=0,5 textiles, wheat will be exported by … and textiles will be exported by …

a. France and the US; Spain

b. the US; France and Spain

c. France and the US; Spain and the US

d. Spain and France; Spain and the US

16. Consider there is an increase in immigration into a small economy as Portugal. In the HO framework, the effect will be:

a. An increase in the production of the labour-intensive good, due to an increase the labour-intensity in its production

b. A decline in the production of the capital-intensive good and an increase in the production of the labour-intensive good.

c. An increase in the production of both goods

d. None of the previous answers
